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Question Number : 1 Question Id : 6801916077 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Carbon. Hydrogen. Oxygen. Nitrogen represent the primary structural unit of:

1. Fat
2. Protein

3. Carbohydrate
4. Lipids

Options :

68019123801. 1
68019123802. 2
68019123803. 3

68019123804. 4

Question Number : 1 Question Id : 6801916077 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019123801. 1
68019123802. 2

68019123803. 3

68019123804. 4

Question Number : 2 Question Id : 6801916078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a part of Macronutrient?

1. Fat
2. Amino Acid
3. Carbohydrate
4, Vitamin

Options:

68019123805. 1
68019123806. 2
68019123807. 3

68019123808. 4

Question Number : 2 Question Id : 6801916078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019123805. 1
68019123806. 2
68019123807. 3

68019123808. 4

Question Number : 3 Question Id : 6801916079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Enzyme "Turn on " when its:

1. Active site joins 1n an "Imperfect fit" with substrates

2. Active site joins in a "perfect fit" with another enzyme

. Inactive site joins in a "perfect fit" with substrates

4. Inactive site joimns in an "perfect fit" with substrate's site

s

Options :

68019123809. 1
68019123810. 2
68019123811.3
68019123812. 4

Question Number : 3 Question Id : 6801916079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019123809. 1
68019123810. 2
68019123811.3
68019123812. 4

Question Number : 4 Question Id : 6801916080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement is true about saturated fatty acids :

1. One Single Bond Between Carbon Atoms

2. Double Carbon Bond between Carbon Atoms

3. Tr1 Carbon Bond between Carbon Atoms

4. Double Carbon Bond between Hydrogen Atoms

Options :

68019123813. 1
68019123814. 2
68019123815. 3

68019123816. 4

Question Number : 4 Question Id : 6801916080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019123813. 1
68019123814. 2
68019123815. 3

68019123816. 4

Question Number : 5 Question Id : 6801916081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the synthetic drug which is used to enhance the production of RBCs:

1. Anabolic Steriods
2. Beta-Blockers
. Erythropoietin
4. Amphetamine

L]

Options :

68019123817. 1
68019123818. 2
68019123819. 3

68019123820. 4

Question Number : 5 Question Id : 6801916081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019123817. 1
68019123818. 2
68019123819. 3

68019123820. 4

Question Number : 6 Question Id : 6801916082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Chemical Senses are associated with Smell and Taste?
(A). Audioception

(B). Opthelmoceptiol

(C). Olfactory Receptor

(D). Gustatory Cells

Choose the correcr answer trom the options given below:

. (A) and (C) only.
. (C) and (D) only.
.(B) and (D) only

. (A) and (D) only.
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FE

Options :

68019123821. 1
68019123822. 2
68019123823. 3

68019123824. 4

Question Number : 6 Question Id : 6801916082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :
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68019123821. 1
68019123822. 2
68019123823. 3

68019123824. 4

Question Number : 7 Question Id : 6801916083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements do not represent Chromosomes?
(A). Determine Genetic Sex

(B). Only X Chromosomes are found in Male

(C). X and Y Chromosomes are found in Female

(D). They can be transformed by Diet

Choose the correct answer from the options given below:

1. (A). (B) and (C) only.
2. (B). (C) and (D) only.
. (A). (C) and (D) only.
4. (A). (B) and (D) only.

iz

Options :

68019123825. 1
68019123826. 2
68019123827.3

68019123828. 4



Question Number : 7 Question Id : 6801916083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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68019123825. 1
68019123826. 2
68019123827. 3
68019123828. 4

Question Number : 8 Question Id : 6801916084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Trait Centered Orientation contends that motivated behaviour of sportsperson is
primarily influenced by:

(A). Personality Makeup

(B). Environmental Push

(C). Needs and Goals

(D). Competitive Drive

Choose the correct answer from the options given below:

1. (A). and (D) only.
2. (A). and (B) only.
3. (A). and (C) only.
4. (B). and (D) only.

Options :



68019123829. 1
68019123830. 2
68019123831. 3

68019123832. 4

Question Number : 8 Question Id : 6801916084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) 3R (D) Had
2. (A) 3R (B) Fad
3. (A) 3R (C) bad
4. (B) 3R (D) Sad

Options :

68019123829. 1
68019123830. 2
68019123831. 3

68019123832. 4

Question Number : 9 Question Id : 6801916085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following Theories of Motivation are not considered under Internal
Stimulation:

(A). Grand Theory

(B). Expectany Theory

(C). Opponent Theory

(D). Attribution Theory

Choose the correer answer from the options given below:

1. (A) and (C) Only
2.(C) and (D) only.
3. (A) and (D) only.
4. (B) and (D) only.

Options :

68019123833. 1
68019123834. 2
68019123835. 3

68019123836. 4

Question Number : 9 Question Id : 6801916085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68019123833. 1
68019123834. 2
68019123835. 3
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Question Number : 10 Question Id : 6801916086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following psycho-sexual developmental stages of Men proposed by
Segment Freud under his personality theory:

(A). Genital Stage

(B). Anal Stage

(C). Phallic Stage

(D). Oral Stage

Choose the correct answer from the options given below:

1. (D). (B). (C). (A).
2. (A). (B). (C). (D).
3.(B). (A). (D). (O).
4.(C), (B). (D). (A).

Options:

68019123837. 1
68019123838. 2
68019123839. 3

68019123840. 4

Question Number : 10 Question Id : 6801916086 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (D). (B). (C). (A).
2. (A). (B). (C). (D).
3.(B). (A). (D). (C).
4. (C). (B). (D). (A).

Options:



68019123837. 1
68019123838. 2
68019123839. 3

68019123840. 4

Question Number : 11 Question Id : 6801916087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following provisions of Food Safety Acts as per their establishment
years from recent to begining:

(A). Indian Penal Court 1860

(B). Consumer protection Act

(C). Export Amendment Act

(D). Environment Protection Act

(E). The Insecticides Act

Choose the correetr answer from the options given below:

1. (A). (B). (D). (E). (C)
2. (C). (B). (D). (E). (A)
3.(B). (C). (D). (A). (E)
4. (B). (C). (D). (E). (A)

Options :

68019123841. 1
68019123842. 2
68019123843. 3

68019123844. 4

Question Number : 11 Question Id : 6801916087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (A). (B). (D). (E). (C)
2. (C). (B). (D). (E). (A)
3. (B). (C). (D). (A). (E)
4. (B). (C), (D). (E). (A)

Options :

68019123841. 1
68019123842. 2
68019123843. 3

68019123844. 4

Question Number : 12 Question Id : 6801916088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to the "Attribution theory". identify the factors categorized as Internal
Attribution:

(A). Ability

(B). Task Difficulty

(C). Luck

(D). Efforts

Choose the correct answer from the options given below:

1. (A) and (B) only.
2. (A) and (C) only.
3. (A) and (D) only.
4. (C) and (D) only.

Options :

68019123845. 1
68019123846. 2
68019123847.3
68019123848. 4



Question Number : 12 Question Id : 6801916088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019123845. 1
68019123846. 2
68019123847.3
68019123848. 4

Question Number : 13 Question Id : 6801916089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Angular Inertia of the pendulum consists of its:

(A). Shape

(B). Mass (Weight)

(C). Length

(D). Gravity

Choose the correct answer from the options given below:

. (A) and (B) only.
. (A) and (C) only.
.(B) and (C) only.
.(B) and (D) only.

|
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Options :



68019123849. 1
68019123850. 2
68019123851. 3

68019123852. 4

Question Number : 13 Question Id : 6801916089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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68019123849. 1
68019123850. 2
68019123851. 3

68019123852. 4

Question Number : 14 Question Id : 6801916090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Arrange the Sequence of evolutionary stages of Group Dynamics:
(A). Storming

(B). Norming

(C). Forming

(D). Performing

Choose the correct answer from the options given below:

1. (C). (A). (B). (D).
2. (A), (B). (C). (D).
3.(B). (A). (D). (C).
4. (C). (B), (D), (A).

Options :

68019123853. 1
68019123854. 2
68019123855. 3
68019123856. 4

Question Number : 14 Question Id : 6801916090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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1. (C). (A). (B). (D)
2. (A). (B). (C). (D)
3. (B). (A). (D). (C)
4. (C). (B). (D). (A)

Options :

68019123853. 1
68019123854. 2
68019123855. 3
68019123856. 4



Question Number : 15 Question Id : 6801916091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Find the incorrect statement about DNA:

(A). It replicates itself exactly before a cell division

(B). Provides instructions in building protein

(C). It 1s always located outside the nucleus

(D). DNA 1s formed by Nucleotides

Choose the correcr answer from the options given below:

1. (A)
2.(B)
3.(C)
4. (D)

Options:

68019123857. 1
68019123858. 2
68019123859. 3

68019123860. 4

Question Number : 15 Question Id : 6801916091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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68019123859. 3
68019123860. 4

Question Number : 16 Question Id : 6801916092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Science of Heredity I |Gastrin
B. |Hormone that stimulate gastric secretion | II. | Genitalia
C. |External Sex Organ III. | Gene
D. |Biological Unit of Heredity IV. | Genetics

Choose the correcr answer from the options given below:

(A) - (IV). (B) - (I). (C) - (IT). (D) - (IIT)
. (A) - (I). (B) - (I). (C) - (III). (D) - (IV)
-(A) - (TIT). (B) - (II). (C) - (I). (D) - (IV)
(A) - (I). (B) - (IID). (C) - (IV). (D) - (IT)

fag B2 —
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Options :

68019123861. 1
68019123862. 2
68019123863. 3

68019123864. 4

Question Number : 16 Question Id : 6801916092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. (A) - (IV). (B) - (I). (C) - (II). (D) - (III)
2. (A) - D). (B) - (I). (C) - (III). (D) - (IV)
3. (A) - (III). (B) - (I). (C) - (I). (D) - (IV)
4. (A) - (D), (B) - (III), (C) - (TV), (D) - (II)

Options :

68019123861. 1
68019123862. 2
68019123863. 3

68019123864. 4

Question Number : 17 Question Id : 6801916093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Proposed Theory) (Thinker)
A |Drive Theory I. |Clark Hull
B. |Need Theory 1. |Abraham Maslow
C. |Instinct Theory III. | William McDougal
D. |Opponent-Process Theory| IV, |Richard Soloman

Choose the correct answer from the options given below:

. (A) - (II). (B) - (IIT). (C) - (IV). (D) - (I)
(A)-(I). (B) - (IT). (C) - (III). (D) - (IV)
(A) - (IV). (B) - (III). (C) - (I). (D) - (I)
(A) - (III). (B) - (I). (C) - (II). (D) - (IV)
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Options :

68019123865. 1



68019123866. 2
68019123867. 3

68019123868. 4

Question Number : 17 Question Id : 6801916093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. (A) - (IT). (B) - (IIT). (C) - (IV). (D) - (I)
(A) - (1. (B) - (). (C) - (IIT). (D) - (IV)
. (A) - (IV). (B) - (IIT). (C) - (II). (D) - (I)
4. (A) - (III). (B) - (I). (C) - (II). (D) - (IV)
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Options :

68019123865. 1
68019123866. 2
68019123867. 3

68019123868. 4

Question Number : 18 Question Id : 6801916094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTII
Force of Rotation [ |Gravity

What causes our Weight | IL |Centre of Gravity

Balance Point III. |Torque

ofa[w]»

A simple tool or machine| IV, |Lever

Choose the correct answer from the options given below:

1. (A) - (I). (B) - (II). (C) - (II). (D) - (IV)
2. (A) - (ITT). (B) - (I). (C) - (II). (D) - (IV)
3. (A)-(I). (B) - (III). (C) - (I). (D) - (IV)
4. (A) - (III). (B) - (I). (C) - (I). (D) - (IV)

Options :

68019123869. 1
68019123870. 2
68019123871. 3

68019123872. 4

Question Number : 18 Question Id : 6801916094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-1 BT Y111 S 1Y B R

T I A
BbUEEK] L [eamiu
. I [{F@@yy &l bg
. |[dqaa fag L. |37t
. | v T I A gRiA| v [S9ae

A3 e e § 3 o SR

1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (II). (B) - (I). (C) - (II). (D) - (IV)
3.(A) - (). (B) - (ITT). (C) - (II). (D) - (IV)
4. (A) - (IT). (B) - (). (C) - (I). (D) - (IV)

Olo]|x] =
|
o
E
;
2

Options :
68019123869. 1

68019123870. 2



68019123871. 3

68019123872. 4

Question Number : 19 Question Id : 6801916095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Mustard Ol I. |Papava Seeds

Milk & Curd II. |Argemone Oil
Pulses ITI. |Starch Powder
Black Pepper | IV, |Dyes Chemical & Lead Chromate

=

o|o|w

Choose the correct answer from the options given below:

(A) - (1). (B) - (I1). (C) - (III). (D) - (IV)
. (A) - (III). (B) - (I). (C) - (IV). (D) - (II)
(A) - (IV). (B) - (I). (C) - (I). (D) - (IIT)
(A) - (II). (B) - (IIT). (C) - (IV). (D) - (I)

fag B2 —

e

Options :

68019123873. 1
68019123874. 2
68019123875. 3

68019123876. 4

Question Number : 19 Question Id : 6801916095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GH1-1 &1 Gl-11 & 91y [AaH SR
g 1 =

A |Rgi®gd | L [udddae

B [gudiReel |m |enfSfa=da

c. |art I1L. |%eTd guf

D. |@Teit IV. |39 THEH 3R S ®iHe
A= feu e fow el o 9 gl 3w -

1. (A) - (I). (B) - (I). (C) - (IIT), (D) - (IV)
2. (A) - (III). (B) - (I). (C) - (IV). (D) - (II)
3. (A)-(IV). (B) - (II). (C) - (I). (D) - (III)
4. (A) - (IT). (B) - (IIT). (C) - (IV). (D) - (I)

Options :

68019123873. 1
68019123874. 2
68019123875. 3

68019123876. 4

Question Number : 20 Question Id : 6801916096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Pre-Natal and Post-Natal stages in a sequential order from
the First to Last:

(A). Embryo

(B). Parturata

(C). Zygote

(D). Neonate

(E). Fetus

Choose the correct answer from the options given below:

1. (C). (A). (E). (D). (B).
2. (C). (A). (B). (D). (E).
3.(C). (A). (E).(B). (D).
4. (C). (A). (B). (E). (D).

Options:
68019123877. 1

68019123878. 2



68019123879. 3
68019123880. 4

Question Number : 20 Question Id : 6801916096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFafiEd THa-gd 3R U9d & 94Td & =R &1 5y0 9 Sfan db o0 o
HqRYd BN

(A) {0l

(B) IR

- f3U T fae el & O el SR TH:

1. (C). (A). (E). (D). (B).
2. (C). (A). (B). (D). (E).
3.(C). (A). (E). (B). (D).
4.(C). (A). (B). (E). (D).

Options :

68019123877. 1
68019123878. 2
68019123879. 3
68019123880. 4

Question Number : 21 Question Id : 6801916097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the Psychological Signs which are associated with Use of Drug:
(A). Disordered Thinking

(B). Denial of Problems

(C). Chronic Fatigue

(D). Thought of Suicide

(E). Bloodshot Eyes

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (C) and (D) only:.
3. (B). (D) and (E) only.
4. (A). (D) and (E) only.

A

Options :

68019123881. 1
68019123882. 2
68019123883. 3

68019123884. 4

Question Number : 21 Question Id : 6801916097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 FAIGTIHS Hdd] B 904 B 9 91 & 394N I JHE e &
(A) ScOdRYd 9™

(B) GHEI3 I TAPR

OECEIREREIG]

(D) el & f[ddaR

(E) Yadiad =4

- fau e fderedl O 9 el SR 9:

1. (A). (B) 3R (D) Had
2. (A). (C) 3R (D) Had
3.(B). (D) 3R (E) had
4.(A). (D) 3R (E) ad

Options :

68019123881. 1
68019123882. 2
68019123883. 3

68019123884. 4



Question Number : 22 Question Id : 6801916098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following Cell does not contain Nucleus:
(A). Myotiber

(B). Neuron

(C). Osteocytes

(D). Red blood Cells

Choose the correct answer trom the options given below:

. (A) and (B) only.
.(B) and (C) only.
. (A) and (D) only.
4. (D) only.

|

L]

Options:

68019123885. 1
68019123886. 2
68019123887.3
68019123888. 4

Question Number : 22 Question Id : 6801916098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FafafEa i S fPo ol & v A s s

(D) STl Jad DIRIHTY
- f3U T fae el & O el SR T:
(A) 3R (B) F7ad
.(B) ¥R (C) Fad

(A) 3% (D) Had
4. (D) $dd

fag - —

Options :

68019123885. 1



68019123886. 2
68019123887. 3

68019123888. 4

Question Number : 23 Question Id : 6801916099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Force I. |Newton Meter
B. |Pressure II. | Newton.Second
C. |Impulse ITI. |Pascal
D. |Torque IV, |Newton

Choose the correct answer from the options given below:

. (A) - (IV). (B) - (I). (C) - (III). (D) - (II)
. (A) - (IV). (B) - (III). (C) - (I). (D) - (I)
(A) - (V). (B) - (I). (C) - (II). (D) - (III)
4. (A) - (IV). (B) - (ITT). (C) - (I). (D) - (I)

fag b2 —

Options :

68019123889. 1
68019123890. 2
68019123891. 3

68019123892. 4

Question Number : 23 Question Id : 6801916099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



11 T P11 & 1Y T HRT:

g 1 T I
A a4 L [geaHi&
B. [ 1. [Feadds
C. |3maT 1L [URh
D. |amyuf V. [FeA
A= feu e fow el o 9 gl 3w -

L. (A) - (V). (B) - (I). (C) - (IIT). (D) - (II)
2. (A) - (IV). (B) - (ITI). (C) - (II). (D) - (D)
3.(A)-(IV). (B) - (). (C) - (II). (D) - (III)
4. (A) - (IV). (B) - (I1T). (C) - (I). (D) - (II)

Options :

68019123889. 1
68019123890. 2
68019123891. 3

68019123892. 4

Question Number : 24 Question Id : 6801916100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Emotion Resulting from harms, losses, threats| 1. |Happiness
B. |Border line cases I[I. |Challenge
C. |Emotion resulting from benefits IIL. |[Hope
D. |[Non-Emotions IV, |Anger

Choose the correct answer from the options given below:

1. (A) - (IV). (B) - (IIT). (C) - (I). (D) - (II)
2. (A) - (IV), (B) - (IIT). (C) - (II). (D) - (I)
3.(A) - (V). (B) - (I). (C) - (I). (D) - (III)
4. (A) - (IV). (B) - (IT). (C) - (IIT). (D) - (I)

Options :
68019123893. 1

68019123894. 2



68019123895. 3
68019123896. 4

Question Number : 24 Question Id : 6801916100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A1 T P11 & 1Y T HRT:
GGl T

A BT, IH9H, TRl U 304 HiaAd| I |
B. |HHRE 7 1L |91t
C. [cmHl 9§ Iad HIgAd II1. | ST=T
D |YTaTeH IV. [Ty
- fau Y fdeedl O 9§ 981 SR 9:

1. (A) - (IV). (B) - (III). (C) - (I). (D) - (II)

2.(A) - (V). (B) - (III). (C) - (II). (D) - (I)

3.(A) - (IV). (B) - (II). (C) - (I). (D) - (III)

e

(A)-AV). (B) - D). (C) - (III). (D) - (I)
Options :

68019123893. 1

68019123894. 2

68019123895. 3

68019123896. 4

Question Number : 25 Question Id : 6801916101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a Trace Mineral?

1. Sodium
2. Calcium
3. Iron

4. Potassium

Options :



68019123897. 1
68019123898. 2
68019123899. 3

68019123900. 4

Question Number : 25 Question Id : 6801916101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Frafafad o 9 o 91 Ay @ ©:

1. ifsaH

2. bfeagH

3. TG
4. Oy

Options:

68019123897. 1
68019123898. 2
68019123899. 3
68019123900. 4

Question Number : 26 Question Id : 6801916102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1 LISTII

Intrinzic Motivation [. |Needto Eat

Primary Motivation | II. |Becoming Proficient in French Language

Extrinsic Motivation | III. |Self Responsibility about Task

ofa[w]»

Secondary Motivation| IV, |Cash Reward of Tournament

Choose the correct answer from the options given below:

L. (A) - (). (B) - (I). (C) - (II). (D) - (IV)
2. (A) - (IID). (B) - (I). (C) - (IV). (D) - (II)
3.(A) - (I). (B) - (). (C) - (I). (D) - (IV)
4. (A) - (ITT). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019123901. 1
68019123902. 2
68019123903. 3

68019123904. 4

Question Number : 26 Question Id : 6801916102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

11 T -1 & 1Y e HR:
GGl g

Sa® IR | 1. [@H 3t srazgdal
TufH® IR | 1. [The et | UEin a1
GIER Rl 11 {1 & 9 ¥ W-3wRaidd
fgciae® RoT | IV, [gAiHe &1 9oe JaR

A3 e e § 3 o SR

1. (A) - ID). (B) - (I). (C) - (D). (D) - (IV)
2.(A) - (ID). (B) - (I). (C) - (IV). (D) - (I)
3.(A) - (IID). (B) - (D). (C) - (I). (D) - (IV)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)

REE

Options :
68019123901. 1
68019123902. 2



68019123903. 3
68019123904. 4

Question Number : 27 Question Id : 6801916103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Perimysium I. |The basic functional unit of Mayofibril
B. |Sarcomeres II. |A sheath of connective tissue that cover each muscle fibers
C. |Epimvsium III. | A sheath of connective tissue that cover each fascicles
D. |Endomysium | IV |It surrounds the entire muscle

Choose the correct answer from the options given below:

- (A) - (II1). (B) - (I). (C) - (II). (D) - (IV)
. (A) - (III). (B) - (I). (C) - (IV). (D) - (II)
. (A) - (IIT). (B) - (I). (C) - (IV). (D) - (I)
. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (I)

fag B2 —

e

Options :

68019123905. 1
68019123906. 2
68019123907. 3

68019123908. 4

Question Number : 27 Question Id : 6801916103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 T -1 & 1Y e S

gqEl1 T
A. [aRufRT I U= ot g dEies Sos
8 |riers - %TWWWEWW%H@M@
C. Ui |1 (Sl Sdd B U 3Rl & Y@ sl ®l oo ddl o
D (sl |1v [ o meusfi sl R aar

i fdu T fds et 5 9 95t 3 I

1. (A) - (IIT). (B) - (I). (C) - I). (D) - (IV)
2.(A) - (). (B) - (I). (C) - (IV). (D) - (II)
3.(A) - (III). (B) - (I). (C) - (IV). (D) - (I)
4. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)

Options :

68019123905. 1
68019123906. 2
68019123907. 3

68019123908. 4

Question Number : 28 Question Id : 6801916104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST IO
Down Syndrome I MTXXY

Turner Syndrome I 453X

Klinefelter Syndrome |III |Defective Chromosomes - 3

ofa[w]»

Cri-du-chat Syndrome| IV. |Trisomy-21

Choose the correct answer from the options given below:

L. (A) - (D). (B) - (IV). (C) - (I). (D) - (IIT)
2. (A) - (IV). (B) - (II). (C) - (I). (D) - (II)
3.(A) - (IV). (B) - (IT). (C) - (IIT). (D) - (I)
4. (A) - (IV). (B) - (IT). (C) - (D). (D) - (II)

Options :

68019123909. 1



68019123910. 2
68019123911. 3

68019123912. 4

Question Number : 28 Question Id : 6801916104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 &1 GEl-11 & 91y [AaH SR
g I T I
A [ST3 Heigm L [47. xxY
B. [k daam I |45, X
C. |[aRiTEth ey aiaiUl| 1IL [SI9Yu] 0.
D |fr-g-dedaam | 1v |BegE-2l

3 R e fawed & @ o SR

. (A) - (ID). (B) - (IV). (C) - (I). (D) - (III)
. (A) - (IV). (B) - (III). (C) - (I). (D) - (II)
(A) - (IV). (B) - (I). (C) - (II). (D) - (I)
4. (A) - (IV). (B) - (IT). (C) - (D). (D) - (III)

fag b2 —

Options :

68019123909. 1
68019123910. 2
68019123911. 3

68019123912. 4

Question Number : 29 Question Id : 6801916105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTII
Albumin I. |Transports Copper

Trans Thyretin | II. |Transports Calcium

Trans Ferrin I[TI. | Transports Vitamin A

ofa[w]»

Ceruloplasmil | IV. |Transports Iron

Choose the correct answer from the options given below:

L. (A) - (D). (B) - (IV). (C) - (IIT). (D) - (I)
2. (A) - D). (B) - (I). (C) - AV). (D) - (I1I)
3.(A)-(I). (B) - (II). (C) - AV). (D) - (I)
4. (A) - (II). (B) - (IV). (C) - (I). (D) - (III)

Options :

68019123913. 1
68019123914. 2
68019123915. 3

68019123916. 4

Question Number : 29 Question Id : 6801916105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g1 &1 GEI-11 & 91y [AeH SHRT;

GGl TE I
A [gegftm I |®IR &1 uRaed dxdl o
B [clgymmfed |1 [ofeqmm o1 oest seare
c [cwfa  |m |RefA T oag axars
D. |[Teaafeaa | 1v. |[dig @1 ufasgd seaT &

A3 e e § 3 o SR

1. (A) - D). (B) - AV). (C) - (IIT). (D) - (I)
2. (A) - (D). (B) - (I). (C) - (IV). (D) - (III)
3.(A) - (IT). (B) - (II). (C) - (AV). (D) - (I)
4. (A) - (D). (B) - (AV). (C) - (I). (D) - (III)

Options :
68019123913. 1
68019123914. 2



68019123915. 3
68019123916. 4

Question Number : 30 Question Id : 6801916106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The Muscles fibers which are fast oxidative. contain high myoglobin content and
high density of blood capillaries and are resistant to fatigue are:

. Type-I

. Type-Ila
. Type-1Ib
. Type-IIx

|

e g

Options :

68019123917. 1
68019123918. 2
68019123919. 3
68019123920. 4

Question Number : 30 Question Id : 6801916106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
HigURE] & olF 9 ¥R dld sffatiioR® gid 8. fSH F= Hgiaiis 9iH1 3R
e BRI BT 3o U Bidl § SR Hifd (YPH) & g wfeRieh g 3

1. €Ig4-I

2. CIgU-IIa

3. CIgU-IIb
4, CIgU-IIx

Options :
68019123917. 1
68019123918. 2

68019123919. 3



68019123920. 4

Question Number : 31 Question Id : 6801916107 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ephedrina Drug contributes in :

(A). Increased Fat Loss

(B). Doest not promote Fat Loss

(C). Raises the Level of Concentration

(D). Reduces the Level of Concentration

Choose the correct answer from the options given below:

. (B) and (C) only.
. (C) and (D) only.
. (A) and (D) only.
.(B) and (D) only.

| B

e o

Options :

68019123921. 1
68019123922, 2
68019123923.3
68019123924. 4

Question Number : 31 Question Id : 6801916107 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS siwy e & 2 frgd divre et &
(A) REA-B H gfg PRal o

(B) R[ETI-B HI Uicied el dxal

(C) Ul & &R ¥ gfg ol §

(D) UHRIAl & TR 8 g9 $ial o

- feu e fosedl O 9 98! S| I

.(B) 3R (C) Pad
. (C) 3R (D) Fad
(A) 3R (D) Bad
.(B) 3R (D) 7ad

e Lo B e



Options :

68019123921. 1
68019123922, 2
68019123923.3
68019123924. 4

Question Number : 32 Question Id : 6801916108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The system consisting of nerves that transmit information to and from the Central
Nervous System 1s:

1. Bramn

2. Spmal Cord

3. Cerebellum

. Peripheral Nervous System

o

Options :

68019123925. 1
68019123926. 2
68019123927.3

68019123928. 4

Question Number : 32 Question Id : 6801916108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
P14 3t A HoIel g dEeT dF 4 $iR dF 3 GI-1 99Ikd H3d g |
1. Af&Tp
2. % T
3. UKD
4, 9T dRAeT A
Options :

68019123925. 1



68019123926. 2
68019123927. 3
68019123928. 4

Question Number : 33 Question Id : 6801916109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Metacarpal bones are also usually associated with injury which 1s known as :

1. Carpal Syndrome
2. Fractured Clavicle
. Boxer's Wrist

4. Boxer's Fracture

(%]

Options :

68019123929. 1
68019123930. 2
68019123931. 3
68019123932. 4

Question Number : 33 Question Id : 6801916109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PIUST (Hermda) ifRmt «f gmraa: g 9 I gwEfed gt §:

1. IOy e (ctvttm s
2. fufSrd Sige (s wifdea)

3. St e
4, S1FTY ThaaR

Options :

68019123929. 1
68019123930. 2
68019123931. 3

68019123932. 4



Question Number : 34 Question Id : 6801916110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Solid Items in a ascending order in respect to Speed of
Sound:

(A). Aluminium

(B). Copper

(C). Granite

(D). Steel

1. (B). (D). (A). (C).
2. (A), (C). (B). (D).
3. (A), (C). (D). (B).
4. (B). (D). (C). (A).

Options:

68019123933. 1
68019123934. 2
68019123935. 3
68019123936. 4

Question Number : 34 Question Id : 6801916110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ey 1 71fd & 3JER FEfiREd o a3l ®1 39 ¥ e & ARG P §
afYd B

(A) T

(B) BIR

(OPEIE

(D) ¥Id

1. (B). (D). (A). (C).
2. (A). (C), (B). (D).
3.(A). (C). (D). (B).
4. (B). (D). (C). (A).

Options :

68019123933. 1



68019123934. 2
68019123935. 3

68019123936. 4

Question Number : 35 Question Id : 6801916111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following disease 1s associated with Psychosomatic Disorder?

1. Diabetes

2. Asthma

3. Cardiovascular Disease
4. Tuberculosis

Options :

68019123937. 1
68019123938. 2
68019123939. 3

68019123940. 4

Question Number : 35 Question Id : 6801916111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafaRad o T SH F FFGP [0PR 4 Tas o
TYTE

SR

 Balle® I
4, qufds
Options :

1
2
3

68019123937. 1
68019123938. 2
68019123939. 3

68019123940. 4



Question Number : 36 Question Id : 6801916112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following categories of skills. girls acquim speedily and more
accurately as compared to their male counterpart in same age group?

1. Conceptual skills

2. Coordinative Skalls

3. Communication Skills
4. Precision Skills

Options:

68019123941. 1
68019123942. 2
68019123943. 3

68019123944. 4

Question Number : 36 Question Id : 6801916112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ﬁmﬁf@aﬁ@mw Y DINE GUE Bl I G T & 30 YN JHBE B
qa1 1 dsfeal dofl 9 3R e Tcie T9 J U ol 62

1. AFURONHD DI
2. GO HIYA
3. GOR S|
4. ot DIYE

Options :

68019123941. 1
68019123942. 2
68019123943. 3
68019123944. 4

Question Number : 37 Question Id : 6801916113 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Formula of Velocity 1s:

Velocity = Change in displacement/ Time
Velocity = Total Distance/ Time

Velocity = Change in Displacement/ Speed
Velocity = Time/ Change in Displacement

|

L]

4
Options :

68019123945, 1
68019123946. 2
68019123947. 3

68019123948. 4

Question Number : 37 Question Id : 6801916113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

o7 1A &

1. 977 = fawurg= & ufvad99a
2. 97 =%d XI/HHY

3. 971 = fowymo= | gikad=
4. 971 = gHg/fawmo= § ufiadd

Options :

68019123945. 1
68019123946. 2
68019123947. 3
68019123948. 4

Question Number : 38 Question Id : 6801916114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



When a jomnt moves and reduces its angle, the resultant movement 1s known as:

1. Protraction
2. Flexion

3. Pronation
4. Extension

Options :

68019123949. 1
68019123950. 2
68019123951. 3

68019123952. 4

Question Number : 38 Question Id : 6801916114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I TS G 7fa et § 3R U DI B $H Bl 5. dl IROTH Jga- B
9 & =0 T &1 o &

1?3“€ﬂw
2. 3T
3. o
4, foTIRur

Options:

68019123949. 1
68019123950. 2
68019123951. 3

68019123952. 4

Question Number : 39 Question Id : 6801916115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



From the pomt of view of Biomechanics. Gravity 1s Squarely responsible for our:

. Volume

. Weight

. Stability

4. Equilibrium

d =

a2

Options :

68019123953. 1
68019123954. 2
68019123955. 3

68019123956. 4

Question Number : 39 Question Id : 6801916115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ig- it & eRei ¥, wamyu gaR e & g gofa: Swerd &

1. SdA

2. HH

3. R

4. ddd-
Options :
68019123953. 1
68019123954. 2
68019123955. 3

68019123956. 4

Question Number : 40 Question Id : 6801916116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In the Cardiac Muscles, the Heart Beat 15 Controlled by Non-Contractile Cells in
the Heart which are known as:

1. Purkinje Fibers

2. Sinoatrial Node

3. Atrioventricular Node
4. Septum

Options :

68019123957. 1
68019123958. 2
68019123959. 3

68019123960. 4

Question Number : 40 Question Id : 6801916116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

€5 3 HIYURE H, ged @f YSP- B gad H AP a-RId DIRDIH gRI
frafa foan ofrar § fors 9 = 5 o1 S &

Options :

68019123957. 1
68019123958. 2
68019123959. 3
68019123960. 4

Question Number : 41 Question Id : 6801916117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Identify the factors. besides Glycogen Depletion. which contributes the On-Set of
Fatigue:

(A). Decreased Blood PH

(B). Lactic Acid Accumulation

(C). Oxygen Depletion

(D). Muscular Tension

(E). Dehydration

Choose the correct answer from the options given below:

1. (A). (B). (C) and (E) only.
2. (A). (B). (C) and (D) only.
3. (B). (C). (D) and (E) only.
4. (A). (C). (D) and (E) only.

Options :

68019123961. 1
68019123962. 2
68019123963. 3
68019123964. 4

Question Number : 41 Question Id : 6801916117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TASdIoH & JHa&d & Jfded 37 DRGI Bl UgdH B, Ol Hifd (YHTH) i
AT H 1T R &

(A) T 1T H g

(B) difded TS 999

(C) Ao sfaer

(D) HIgURig d-1d

(E)

- fou T fosedl & & 981 W I:

1. (A). (B). (C) iR (E) %5dd
2. (A). (B). (C) 3R (D) Had
3. (B). (C). (D) 3R (E) Had
4. (A). (C). (D) 3R (B) Bdd

Options :
68019123961. 1
68019123962. 2

68019123963. 3



68019123964. 4

Question Number : 42 Question Id : 6801916118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Eao CONLAING ...coumooimm grams of Protein.

1. 25.9 gram
2.19.3 gram
3. 6.3 gram

4. 18.5 gram

Options:

68019123965. 1
68019123966. 2
68019123967. 3
68019123968. 4

Question Number : 42 Question Id : 6801916118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TG ASH ..o OTH UIeH gl §

1.259UMH
2.193 UMH
3.6.3 9
4. 18.5UH

Options :

68019123965. 1
68019123966. 2
68019123967. 3

68019123968. 4

Question Number : 43 Question Id : 6801916119 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are water soluble Vitamins?

1. Vitamm B & C
2. Vitamm A & D
3. Vitamm E & K
4. Vitamm D & E

Options:

68019123969. 1
68019123970. 2
68019123971.3
68019123972. 4

Question Number : 43 Question Id : 6801916119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafeiEd § 9 &1F 9 GeftE oa § go-=id o2

1. faerE ot iR 4t
2. fqeTfi g 3R S
3. fqeitF g ts &

4. fqeTfi St 3R g

Options :

68019123969. 1
68019123970. 2
68019123971. 3

68019123972. 4

Question Number : 44 Question Id : 6801916120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



During intense exercise, when hydrogen oxidation does not keep pace with its
production, the pyruvate temporarily binds with which molecule to form lactate?

1. Oxygen
2. NADH

3. Hydrogen
4. FADH

Options :

68019123973. 1
68019123974. 2
68019123975. 3
68019123976. 4

Question Number : 44 Question Id : 6801916120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

CIiel 3T & R, O/d SIS S0 a9 30 IdTe- & 91y TIeHd ol
TG &, 1l Ur=de SR 0 W daee g1 & [ foeT Squjeii & a oS
STl 82

1. SIS
2. NADH

3. glEalo

4. FADH
Options :

68019123973. 1
68019123974. 2
68019123975. 3

68019123976. 4

Question Number : 45 Question Id : 6801916121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which Nutrient deficiency in diet will rapidly deplete Muscle and Liver Glycogen
and profoundly affects the capacity for both Intense Anaerobic Exercise and Long
Duration Aerobic Exercise?

1. Protein

2. Fat

3. Carbohydrate
4, Fatty Acid

Options:

68019123977. 1
68019123978. 2
68019123979. 3
68019123980. 4

Question Number : 45 Question Id : 6801916121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

3MER H S U U Tl I Bl HIURIEG! 3R g g ehio Bl duil 4
¥ B 111 3R iy Sfargdiy saraH R <tuiafe aradig oarars Sl Bl &l
I RIS I YHIfad Bl

1.9IeH
2. a9
3. PIEGESe
4. 94T 3

Options :

68019123977. 1
68019123978. 2
68019123979. 3

68019123980. 4

Question Number : 46 Question Id : 6801916122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a colour blind female marries a man whose mother was also colour blind. what
are the chances for her Progeny having colour blindness?

25%

. 50%

. 75%
4. 100%

Options :

d =

faa

68019123981. 1
68019123982. 2
68019123983. 3
68019123984. 4

Question Number : 46 Question Id : 6801916122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

IR oI5 W-EWeF Al fodl T aafeq 3 faae &dl 8 ot 11 4t 31
e ot 91 39 99 B W8l 811 & 1 GUT1a1 87

5 fa=rd
0 wfc=rd

.75 gfaerd
4. 100 Ufd=rd

Options :

b2

fad d =

68019123981. 1
68019123982. 2
68019123983. 3

68019123984. 4

Question Number : 47 Question Id : 6801916123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In most cells. which of the following constitutes over 90% of the cellular RNA?

1. rRNA
2. mRNA
3. tRNA
4, mRNA

Options :

68019123985. 1
68019123986. 2
68019123987. 3

68019123988. 4

Question Number : 47 Question Id : 6801916123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aﬁﬁgﬁﬁmﬁﬁ.%ﬁ@ﬁmaﬁﬁﬁamaaﬂ%m@
HiE® 82

1. fRNA
2. mENA
3. tRNA
4, hnRNA

Options :

68019123985. 1
68019123986. 2
68019123987. 3
68019123988. 4

Question Number : 48 Question Id : 6801916124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s labelled as the Internal Force?

1. Air Pressure

2. Gravitational Pull
3. Mechanical Pull
4. Muscles Force

Options :

68019123989. 1
68019123990. 2
68019123991. 3

68019123992. 4

Question Number : 48 Question Id : 6801916124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafefad 3 9 59 afdRe 9d &gl oar 82
1. A &
2. @By R4
3. gife® fEdrg
4. GIOUREl &1 9

Options:

68019123989. 1
68019123990. 2
68019123991. 3

68019123992. 4

Question Number : 49 Question Id : 6801916125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following Major Division of Brain according to Less to More distance
trom Heart:

A. Midbrain

B. Medulla oblongata

C. Diencephalon
D. Pons

L. (B)D) (C).(A)
2.(B) (A). (D).(C)
3. (B). (D).(A). (C).
4. (C).(A), (B). (D)

Options :

68019123993. 1
68019123994. 2
68019123995. 3

68019123996. 4

Question Number : 49 Question Id : 6801916125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g2 Y B0 U iU gl & 3R TRTsh & (HafeiRad v [que ol
AU By

1. (B).(D) (C).(A)
2. (B) (A). (D).(C)
3. (B). (D).(A). (C).
4. (C).(A). (B). (D)

Options :

68019123993 1
68019123994, 2
68019123995. 3

68019123996. 4



Question Number : 50 Question Id : 6801916126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Neglect of teeth care may lead to:

. Diarrhoea
. Pyorrohea
3. Fever

4. Nausea

o =

Options:

68019123997. 1
68019123998. 2
68019123999. 3
68019124000. 4

Question Number : 50 Question Id : 6801916126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i o g & S0en @ e 8 ST 8

1. 8%
2. qIghean
3. 5aX
4. fodat

Options :

68019123997. 1
68019123998. 2
68019123999. 3

68019124000. 4

Question Number : 51 Question Id : 6801916127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the following is not an example of Disaccharides?

1. Sucrose
2. Lactose
3. Maltose
4. Fructose

Options :

68019124001. 1
68019124002. 2
68019124003. 3

68019124004. 4

Question Number : 51 Question Id : 6801916127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FEffad 3 11 SEAEsy &1 320 el &
1I % -
3. Hlecld
4. TaelSl

Options :

68019124001. 1
68019124002. 2
68019124003. 3

68019124004. 4

Question Number : 52 Question Id : 6801916128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



How many ATP molecules are produced when NADH 1s reoxidized to NAD?

|
| B

L]
S

4.6
Options :
68019124005. 1
68019124006. 2
68019124007. 3

68019124008. 4

Question Number : 52 Question Id : 6801916128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol NADH &I NAD H U: Sfaiigrd fdoa1 ofran § i fdba-t ATP SIU[3{T &1
15 Bl 82

| R
| ]

L]
e s

4.6
Options :
68019124005. 1
68019124006. 2
68019124007. 3
68019124008. 4

Question Number : 53 Question Id : 6801916129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In which of the following conditions, an organism gains or loses one or more
chromosomes but not a complete set?

1. Allopolyploidy
2. Eupliody

3. Aneuploidy

. Autopolyploidy

e

Options :

680191240009. 1
68019124010. 2
68019124011.3

68019124012. 4

Question Number : 53 Question Id : 6801916129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrafaRad 7 4 forg fufd . o Sffa e dquf 9 =16t siftg us ar efes
TURIA WIS Ral & a1 @l &dl 62
L ORI
2. gdlg ol
. tat
4. SffrTiiE St
Options :
680191240009. 1
68019124010. 2
68019124011.3

68019124012. 4

Question Number : 54 Question Id : 6801916130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The Chain of Amino Acids produced in a translation 1s a:

1. Polypeptide
2. Nucleotide

3. Base

. Tryglycerides

s

Options :

68019124013. 1
68019124014. 2
68019124015. 3

68019124016. 4

Question Number : 54 Question Id : 6801916130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U 3dTa O a9 I 3 B 4adl o
UldurEss

RS

fag 2 —

o, L=

4. CIEERIgSY

Options :

68019124013. 1
68019124014. 2
68019124015. 3

68019124016. 4

Question Number : 55 Question Id : 6801916131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which force 1s used by Serratus Anterior and the trapezius to create the lateral

superior and rotational moves of scapula?

1. Collinear Force
2. Couple Force

3. Concurrent Force
Coplanar Force

-

Options :

68019124017. 1
68019124018. 2
68019124019. 3
68019124020. 4

Question Number : 55 Question Id : 6801916131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B AD (I D1 U4 IR SR gUiH JIT a1 P foU Ieed
UCIROR 3R SEiuieay g1 (9 & o1 SUdRT T Sirdl 82

1. A 4

2. O ad
3. gaqdi 9d
4. gedag g4

Options:

68019124017. 1
68019124018. 2
68019124019. 3

68019124020. 4

Question Number : 56 Question Id : 6801916132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following Nuts and O1l Seeds in High to Low Value of Carbohydrates
received after having 100gm of that Item:

(A). Poppy Seeds

(B). Almond

(C). Watermelon Seeds

(D). Cashew

(E). Till (Seasame)

Choose the correct answer from the options given below:

1. (A). (E). (B). (C). (D).
2. (A), (E). (D). (B). (C).
3. (D). (E). (B). (C). (A).
4.(A). (D). (B). (C). (E).

Options :

68019124021. 1
68019124022. 2
68019124023. 3
68019124024. 4

Question Number : 56 Question Id : 6801916132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad il ofR faaeal &1 S9% & 100 T19 ST & 18 U
FraEloc Bl 3 I 9 A H aiud oy

(A) TEEY & gl

(B) d1a™

(C) TRES & diol

(D) DT,

(E) fad

e fu 7Tt fosedl O 9§ 9el SR -

1. (A). (E). (B). (C). (D).
2. (A), (E). (D). (B). (C).
3. (D), (E), (B). (C), (A).
4. (A). (D). (B). (C). (E).

Options :
68019124021. 1
68019124022. 2

68019124023. 3



68019124024. 4

Question Number : 57 Question Id : 6801916133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s the correct expression of moment of nertia?

1. I=m%k
2. I=mk

3. 1= mk?
4. 1= mk®

Options:

68019124025. 1
68019124026. 2
68019124027.3
68019124028. 4

Question Number : 57 Question Id : 6801916133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad ¥ 9 &1 91 oisd S0l &1 981 Ao 8?2

1. I=m%k

2. I=mk

3. I= mk?

4. = mk’
Options :
68019124025. 1
68019124026. 2
68019124027. 3

68019124028. 4



Question Number : 58 Question Id : 6801916134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Dietry Energy 18 measured in which Unit:

. Gram
. Kilocalories
3. Kilogram
4. Liter
Options:

o =

68019124029. 1
68019124030. 2
68019124031. 3
68019124032. 4

Question Number : 58 Question Id : 6801916134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

HTER 3ol &1 {6y SahTg | AT SIaT ©:

Options :

68019124029. 1
68019124030. 2
68019124031. 3

68019124032. 4

Question Number : 59 Question Id : 6801916135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Out of twenty two amino acids, our body can make only:

1. 10 Amino Acids
2. 12 Amino Acids
3. 15 Amino Acids
4, 13 Amino Acids

Options :

68019124033. 1
68019124034. 2
68019124035. 3

68019124036. 4

Question Number : 59 Question Id : 6801916135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

29 AT 3 H 9, 8URI IRR $ad &1 9o dl o

1. 10 AT 3%
2. 12 SHHT 3%
3. 15 SHFAT 3%
4. 13 SHFAT 3%

68019124033. 1
68019124034. 2
68019124035. 3
68019124036. 4

Question Number : 60 Question Id : 6801916136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Vitamun B7 1s also known as:

1. Niacin

2. Pantothenic Acid
. Pyridine

4. Biotin

L]

Options :

68019124037. 1
68019124038. 2
68019124039. 3

68019124040. 4

Question Number : 60 Question Id : 6801916136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faeTfaE B7 &1 i =0 1 off 1 o7 &

1. e
2. G ufas
3. gEdisE
4. gIfeq

Options:

68019124037. 1
68019124038. 2
68019124039. 3

68019124040. 4

Question Number : 61 Question Id : 6801916137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In the urea cyele the ormithine combines with carbamoyl phosphate to form

1. Arginine

2. Acetyl Glucosamine
3. Uridine

. Citrulline

e

Options :

68019124041. 1
68019124042. 2
68019124043. 3
68019124044. 4

Question Number : 61 Question Id : 6801916137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

I gfvar =6 o Sral Orgd Bithe & T HadR G|
forATor ST B

N lCIEE
o N
'!j E

4. Tcfeq

&

fag b —

Options:

68019124041. 1
68019124042. 2
68019124043. 3
68019124044. 4

Question Number : 62 Question Id : 6801916138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



....................... 15 also known as Slow Killer.

. Hepatitis A
. Hepatitis B
. Hepatitis C
4. Hepatitis B Immunoglobulin

| R

L]

Options :

68019124045. 1
68019124046. 2
68019124047. 3

68019124048. 4

Question Number : 62 Question Id : 6801916138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
....................... ®] He RS I el dl &

3. gucrsieg
4. eUCIEicd df SRANAIg

Options :

68019124045. 1
68019124046. 2
68019124047. 3

68019124048. 4

Question Number : 63 Question Id : 6801916139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



At rest and during exercise. which organ serves as the main source to maintain
Normal Glucose Level?

. Kidney

. Liver

. Small Intestine
. Gall Bladder

Options :

2 =

e Laa

68019124049. 1
68019124050. 2
68019124051. 3
68019124052. 4

Question Number : 63 Question Id : 6801916139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fSTH A T 3R O & TRM. DI 1 S JERY TGD 1ol Wk Pl G
TG & (AU 7 Hid & &9 8 B0 $HRdl 82

1. b
2994

3. &% A
4, Tum=m™

Options :

68019124049. 1
68019124050. 2
68019124051. 3

68019124052. 4

Question Number : 64 Question Id : 6801916140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In mammalian heart and liver, oxidation by long chain of fatty acid to Acetyl-CoA
provides how much of energy needs under all physiological circumstances?

. 25% approx
. 40% approx
. 60% approx
. 80% approx

2 =

o g

Options :

68019124053. 1
68019124054. 2
68019124055. 3

68019124056. 4

Question Number : 64 Question Id : 6801916140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WAl & gy 3R U B, a9 o 31 4 2fge gR1 iesa-en
3ifedtepenl g1, 9t TR aRfufaal & foat Solf qars?

1. TITYAT 25 Tiaerd
2. TTHIT 40 Wia=Id
3. TTHIT 60 Wia=Id
4. TIYT 80 Tiaerd

Options :

68019124053. 1
68019124054. 2
68019124055. 3

68019124056. 4

Question Number : 65 Question Id : 6801916141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s the basic functional unit of Respiration?

1. Nephron
2. Neuron
3. Alveoli
4. Bronchi

Options :

68019124057. 1
68019124058. 2
68019124059. 3
68019124060. 4

Question Number : 65 Question Id : 6801916141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad @ 9 o Ol 4949 3 90 Sid® 5015 o
1 Wﬂl
3 Wf@w

Options :

68019124057. 1
68019124058. 2
68019124059. 3

68019124060. 4

Question Number : 66 Question Id : 6801916142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Motor and sensory cortex are situated between ....coccvveeiieinenn, lobe and

..................... lobe.

. Frontal and Occipital
. Frontal and Temporal
. Parietal and Occipital
4. Frontal and Parietal

2 =

Taa

Options :

68019124061. 1
68019124062. 2
68019124063. 3
68019124064. 4

Question Number : 66 Question Id : 6801916142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

M 3R GG TP ....ooooovvv TR SR 91T & o9 Rud
B gl
ST R SFHUTE

. SHYUTAIE 3R TG
[T SR ST
4. Qe 3R iy

Options :

fad Id =

68019124061. 1
68019124062. 2
68019124063. 3

68019124064. 4

Question Number : 67 Question Id : 6801916143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following stage of growth and development is also a period of
affective cognitive functioning?

1. Adolescence
2. Adulthood
3. Childhood

. Infancy

e

Options :

68019124065. 1
68019124066. 2
68019124067. 3

68019124068. 4

Question Number : 67 Question Id : 6801916143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 3R faere & FEfaRgd =Rl § 9 BF A1 HIgTHS IFHES PRIV
3 arafey oft @2

1. [P TIRIGR™Y
2. UIeTaRl

3. ST
4. QgaTaR

Options :

68019124065. 1
68019124066. 2
68019124067. 3

68019124068. 4

Question Number : 68 Question Id : 6801916144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The law of conservation states that energy can be:

1. Created

2. Destroyed

3. Either created or destroyed

4. Neither created nor destroyed

Options :

68019124069. 1
68019124070. 2
68019124071. 3

68019124072. 4

Question Number : 68 Question Id : 6801916144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

IRefUT &1 101 Fedl & 6 Sl ........... D1 ol ol o

1. fAfda

2. faAy

3. g1 al AEd a1 fay

4. FarfAfg sik = 8t faap

Options :

68019124069. 1
68019124070. 2
68019124071.3

68019124072. 4

Question Number : 69 Question Id : 6801916145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the atomic symbol for Calcium?

1.C
a0
3.Ca
4. Co

Options :

68019124073. 1
68019124074. 2
68019124075. 3

68019124076. 4

Question Number : 69 Question Id : 6801916145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
BIHTH BT WA il 1 82

L

2.4C1

3.Ca

4. Co
Options :
68019124073. 1
68019124074. 2
68019124075. 3

68019124076. 4

Question Number : 70 Question Id : 6801916146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are not major assumptions i regards to cognitive theory of
learning?

(A). Memory System

(B). Mindset

(C). Prior Knowledge

(D). Information Processing

Choose the correct answer from the options given below:

1. (A) and (C) only.
2. (B) and (D) only.
3.(C) and (D) only
4. (A) and (D) only.

Options :

68019124077. 1
68019124078. 2
68019124079. 3

68019124080. 4

Question Number : 70 Question Id : 6801916146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
W@@ﬁ@ﬁ@m%ﬁ%%@%ﬁ%ﬁaﬁwm
Tel &

(&) Fid ol

(B)

©EEIH

(D) =T <P

- f&u T fasred! & 9 9l SR :

1. (A) 3R (C) Fad
2. (B) 3R (D) $ad
3.(C) 3R (D) Pad
4. (A) 3R (D) Pad

Options :

68019124077. 1
68019124078. 2
68019124079. 3

68019124080. 4



Question Number : 71 Question Id : 6801916147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the Following Organelle in the Cytoplasm has specified function of drug
detoxification?

. Mitochondria

. Ribosome

. Smooth Endoplasmic Reticulum
4. Centriole

| S

L]

Options:

68019124081. 1
68019124082. 2
68019124083. 3
68019124084. 4

Question Number : 71 Question Id : 6801916147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FiRPEA | Fafaiea § 9 59 o o o FRifasexu &1 Fidy o &
1. @ﬁfﬁﬁmm@ﬁm

3ﬁxﬁaﬁﬁﬁﬂwﬁaﬂ
4. ARGDG

Options :

68019124081. 1
68019124082. 2
68019124083. 3

68019124084. 4

Question Number : 72 Question Id : 6801916148 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following code is represented by the codon AUG?

1. Alanine

2. Lysme

3. Valine

4. Methionine

Options:

68019124085. 1
68019124086. 2
68019124087. 3
68019124088. 4

Question Number : 72 Question Id : 6801916148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeiad 5 O 59 o8 & S AUG §RT U Rid fear smars?

1. TS
2. ABRE
3. ddrsd
4. HIEGEH

Options :

68019124085. 1
68019124086. 2
68019124087. 3

68019124088. 4

Question Number : 73 Question Id : 6801916149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s a Numerical Chromosomal Aberration?

. Euploidy

. Deletion

3. Duplication
4, Translocation

| R

Options :

68019124089. 1
68019124090. 2
68019124091. 3

68019124092. 4

Question Number : 73 Question Id : 6801916149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
FrafaRad @ 9 19 91 U ST s URE [0 g2
1. JI0TH
2. faedig
% g?!ﬂi:l
4, BT
Options:

68019124089. 1
68019124090. 2
68019124091. 3

68019124092. 4

Question Number : 74 Question Id : 6801916150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in the sequence of Glycolysis:
(A). Glucose 6 -Phosphate

(B). 3- Phosphoglycerate

(C). Fructose 6- Phosphate

(D). Glyceraldehyde 3- Phosphate

(E). Pyruvate

1. (A). (C). (B). (D) and (E).
2. (A), (C). (D). (B) and (E).
3. (A). (B). (D). (C) and (E).
4. (A), (B). (C), (D) and (E).

Options :

68019124093. 1
68019124094. 2
68019124095. 3
68019124096. 4

Question Number : 74 Question Id : 6801916150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frafeied o g aieRg & o pd § afyd o
(A) 7D 6-BIEhC

(B) 3-WBIEhIfTeRIE

(C) WeIol 6-ThIEhe

(D) [RTERISEIES 3-BIEhe

(E) UHg&=dc

- fau e fdm el T 9§ 981 SR 9:

1. (A). (C). (B). (D) 3R (E).
2. (A). (C). (D). (B) 3R (B).
3. (A). (B). (D). (C) 3R (E).
4. (A). (B). (C). (D) 3R (E).

Options:

68019124093. 1
68019124094. 2
68019124095. 3

68019124096. 4



Question Number : 75 Question Id : 6801916151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which of the following Oil oftenly used for the adulteration of Mustard Oils?

. Coconut O1l

. Olive il

3. Argemone Oil
4. Fish Oil

Options:

b =

68019124097. 1
68019124098. 2
68019124099. 3
68019124100. 4

Question Number : 75 Question Id : 6801916151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ﬁaﬁg@aﬁ%ﬁm%aa@ww@%ﬁaﬁ%%ﬁ%
oIdl 8?2

ATiad &1 ad

oI P ad

3TorEHA 9
4. g&dl DT dd

Options :

faa pa —

68019124097. 1
68019124098. 2
68019124099. 3
68019124100. 4



